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1. lim
(x,y)→(0,1)

(1 + xy)
1
x = .

2. ®�z = f (xy2, x2y),Ù¥¼ê f����§Kdz = .

3. ®� f (x, y)ëY§��È©^S
∫ 4

0
dy
∫ 1

2 (y−4)

−
√

4−y
f (x, y)dx =

4. ¼êy(x)÷v�©�§ dy
dx − y = ex,�y|x=0 = 1,K�§�A)� .

5. ��0 ≤ x < π
2�§f (x) = 1¶�π

2 ≤ x < π�§f (x) = 0, s(x) =
∞∑

n=1
bn sin nx´ f (x)Ð

m��u?ê,Ks(π2 ) = .

�!{�K (�K�40©§�¦�ÑÌ�)KÚ½)

1. (6©))�©�§(xy + x2 + y2)dx − x2dy = 0 (x , 0).

2. (6©)¦�©�§y′′ − 3y′ + 2y = e−x�Ï).
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3. (6©)¦¼ê f (x) = 1
2x2−3x+1 3: x = 0?��?êÐmª.

4. (10©)�Oe�?ê�ñÑ5 .

(1)
+∞∑
n=1

1
√

n+2+
√

n
; (2)

+∞∑
n=1

(−1)n n
en .

5. (12©)�¼ê f (x)3(−∞,+∞)SäkëY���ê§L´þ�²¡(y > 0)Sk�

©ã1w­�§Ùå:Úª:©O�(1, 2), (2, 1)§P

I =

∫
L

1
y

[1 + y2 f (xy)]dx +
x
y2 [y2 f (xy) − 1]dy.

(1)y²­�È©I�È©´»Ã'; (2)O�I��.
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n!)�K (�K�40©§�¦�ÑÌ�)KÚ½)

1. (8©)¦��¼ê f (x, y) = 3x2 + 6x − 1
3y3 + 2y2 + 1�4�.

2. (8©)O�­�È©
∮

L
(z−y)dx+(x−z)dy+(x−y)dz,Ù¥ L´x2+y2 = 1�x−y+z =

2���§lz¶K�w�^����.

3. (8©)¦�?ê
+∞∑
n=1

2n−1
2n x2(n−1)�Âñ��Ú¼ê.
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4. (8©)O�­¡È©
�
Σ

z2ds,Ù¥Σ�I¡z =
√

x2 + y23ÎNx2 + y2 ≤ 2xS�Ü

©.

5. (8©)�ϕ(x)ëY,�÷vϕ(x) = ex +
x∫

0
tϕ(t)dt − x

x∫
0
ϕ(t)dt,¦ϕ(x).
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